Chat GPT % Open Al &

A AT 2% el
2H O|2+M &
g 7e

CHAT GPTH ©1- B K| 50f CHSH ZH 2t Chat GPTOH A A% AIS B3 W2 opE LiLH,

X} 2 %t AZH

ChatGPT7} =22 O|&

Module 1 ChatGPTRt ZEZE O IO 2R (LLM)2 O B A BHE 0| X| =7} 0.5H

J|2H e Ar8Y Y 3 Chat GPTS| ZEZE 28

— o

ChatGPTe| ZEIZE &= O{C|A X0 & 5= JYS7t

1day Module 2 ChatGPT 2} ‘4/d Al ChatGPTE &8535I0f & = = A= 0.5H
(2H)

=

dd Ale T dd AR BEE= O[0|X[et F

Y7ot 2tHE OFO[L|O0 AMX]|

—

Chat GPTE YFO0IA OfLI7HK] 2EF = ASTN?

Module 3 ChatGPT & & &8 0.5H

M A AL O|O| K| QF S QAN S 2t

o O o o




